PLANT ENTERPRISES PRODUCTION

		LANI ENI	<u>LERPRISES PROI</u>	DUCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY						_
Pulpwood						
Pine				244,134	cords	
Hardwood				78,133	cords	
Pulpwood (Total)				322,267		
Chip & Saw				42,154	cords	
Saw Timber						
Pine				67,606,143	board feet	
Hardwood				5,042,781	board feet	
Saw Timber (Total)				72,648,924		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill	,					\$59,146,367
Total Forestry Stumpage						\$34,431,515
Christmas Trees	*			300	trees	\$12,000
Forestry (Total)						\$59,158,367
FRUITS						
Blackberries	*	2.0	1,000.00	2,000	pints	\$2,000
Blueberries	*	1.0	2,000.00	2,000	lbs.	\$2,500
Mayhaws						
Native	15	45.0	30.00	1,350	lbs.	\$1,350
Orchard	*	21.0	335.00	7,035	lbs.	\$10,553
Mayhaws (Total)		66.0				\$11,903
Muscadines						
Fresh	6	6.0	315.00	1,890	gals	\$15,120
Muscadines (Total)		6.0				\$15,120
Peaches	*	40.0	150.00	6,000	bu.	\$180,000
Fruits (Total)		115.0				\$211,523
HAY FOR SALE						

PΙ	A I	VТ	$\mathbf{F}\mathbf{N}$	TFE	PR	PICEC	PRO	DII	CTION	
	A	1	רועו	יועו	VI 17		1111	יטעו		

_	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass	55	2,500.0	5.00	12,500	tons	\$625,000
Hay for Sale (Total)		2,500.0				\$625,000
HOME GARDENS	3,800					\$1,140,000
NURSERY CROPS						
Woody Ornamentals	*				acre	\$20,000
Nursery Crops (Total)						\$20,000
VEGETABLES						
Broccoli (Fresh)	*				cartons (20	
					lbs.)	
Cabbage						
Cantaloupe	*		40.00		cartons (40	
					lbs.)	
Cauliflower	*				cartons (20	
					lbs.)	
Collards						
Cucumber						
Fresh	*	1.0	300.00	300	bu. (50 lbs.)	\$3,000
Cucumber (Total)		1.0				\$3,000
Eggplant	*	1.0			bu. (33 lbs.)	
Mustard (Fresh)	7	7.0	500.00	3,500	doz. bunches	\$24,500
Okra (Fresh)		2.0	300.00	600	bu.	\$15,000
Peppers						
Banana	*	1.0	340.00	340	bu. (25 lb.)	\$5,100
Bell	*	1.0	400.00	400	bu. (28 lb.)	\$6,000
Peppers (Total)		2.0				\$11,100
Pumpkin (Fresh)	*	4.0	185.00	740	cwt.	\$14,800
Snap Beans (Fresh)		3.0	120.00	360	bu. (30 lbs.)	\$9,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Southern Peas (Fresh)	19	55.0	80.00	4,400	bu. (24 lbs.)	\$110,000
Squash (Fresh)						
Yellow Squash	*	2.0	150.00	300	bu. (45 lbs.)	\$4,500
Squash (Fresh) (Total)		2.0				\$4,500
Tomatoes (Field)	8	10.0	150.00	1,500	lugs (20 lbs.)	\$27,000
Turnips (Fresh)	*	4.0		,	doz. bunches	•
Watermelon	19	725.0	140.00	101,500	cwt.	\$812,000
Vegetables (Total)		816.0		ŕ		\$1,030,900
TOTAL ALL PLANT ENTER	RPRISES					\$62,185,790

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

TISHER	IES & WILDEITE ENTERINISES I	RODUCTION		
Fisheries Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE				
Catfish (Farm)	130 Acres in Proc	d. 455,000	lbs.	\$309,400
Aquaculture (Total)				\$309,400
FUR ANIMALS		312	pelts	\$2,290
ALLIGATORS (WILD)		52	ft.	\$1,103
HUNTING LEASES				
All Other Game	200,000 No. Acres		acre	\$1,100,000
	Leased			
Hunting Leases (Total)				\$1,100,000
TOTAL ALL FISHERIES & WILDLIFE EI	NTERPRISES			\$1,412,793

ANIMAL ENTERPRISES PRODUCTION

A 1	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			3,350	head	\$1,483,682
400-500 lbs.			2,180	head	\$1,100,486
500-600 lbs.			1,750	head	\$978,381
600-700 lbs.			1,600	head	\$1,019,200
Steer Calves (Total)					\$4,581,749
Heifer Calves					
300-400 lbs.			3,130	head	\$1,261,906
400-500 lbs.			1,600	head	\$744,120
500-600 lbs.			440	head	\$232,247
600-700 lbs.			950	head	\$568,100
Heifer Calves (Total)					\$2,806,374
Yearling Cattle					
600-700 lbs.			200	head	\$127,400
700-800 lbs.			670	head	\$462,300
Yearling Cattle (Total)					\$589,700
Cow-Calf Pairs			650	pair	\$617,500
Cull Cows			440	head	\$180,679
Cull Bulls			150	head	\$137,768
Cattle & Calves (Total)	300	20,000 No. Cows			\$8,913,769
HORSES					
Show Horses	30		150	head	\$600,000
Recreation Horses	140		1,100	head	\$1,650,000
Horses (Total)					\$2,250,000
POULTRY					
Broilers	115		313,529,914	lbs.	\$235,147,436

ANIMAI	ENTERPRISES	PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
POULTRY					
Breeder Flocks	8	142,000 No. Birds	1,775,000	doz. hatching	\$674,500
				eggs sold	
Pullets	*		213,000	each	\$372,750
Poultry (Total)					\$236,194,686
SHEEP					
Slaughter Lambs			15	head	\$1,828
Show Lambs			12	head	\$3,300
Stocker Sheep			15	head	\$1,125
Cull Sheep			10	head	\$550
Sheep (Total)	*	25 No.Breeding			\$6,803
		Ewes			
GOATS					
Show Goats				head	\$3,700
Slaughter Goats				head	\$15,750
Stocker Goats				head	\$17,000
Cull Goats			100	head	\$6,000
Goats (Total)	17	250 No. Does			\$42,450
SWINE					
Show Pigs				head	\$2,970
Feeder Pigs				head	\$9,200
Slaughter Hogs				head	\$1,204,632
Culls			390	head	\$43,680
Swine (Total)	15	429 No. Sows			\$1,260,482
TOTAL ALL ANIMAL E					\$248,668,190
UNION PARISH TOT	Γ AL				\$312,266,772